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8-6/ Multiplying a Polynomial by a
Monomial (pages 444-449)
Use the distributive property to multiply a polynomial by a monomial. You

may find it easier to multiply a polynomial by a monomial if you combine
all like terms in the polynomial before you multiply.

Examples

a. Find 422(z2 + 7z — 322). b. Solve 4(n — 5) + 2 =5(6 — n) + 3n.
Combine like terms in the polynomial and then 4in -5 +2=56—n)+ 3n
multiply using the distributive property. 4(n) — 4(5) + 2 = 5(6) — 5(n) + 3n
4722(22 + 72 — 37) 4n —20+2 =30 -5n + 3n

4n — 18 =30 — 2n
=472(-222 + 72) 6n — 18 — 30
= 472(—222) + 423(72) 6n =48
= —8z% + 2878 n=38
Try These Together
Find each product.
1. —2(2a + 8) 2. cd(6c? + 3cd)

HINT: Use the distributive property to multiply the monomial by every term in the polynomial.

Find each product.

3. 2n(9n2 — 2n — 12) 4. 8g2h(g? + 9% — 6gh — 2h)
5. 852(2s2 — 4s + 4) 6. —%xyz(%xyz +1x - 8)
Simplify.
7. u(Tu — 2) + 25u 8. 5b(—b%2+ 7b — 1) + 9(3b3 — 6b + 2)

9. 4r23r — 7) + r(7r2 — 5r + 2) — 4(r2 + 9r) 10. %0(303 +3c—6)+ %(302 — 6¢)

Solve each equation.

11. 4(—6x +9) + 4 = —4(—5x + 12) 12. 122y — 9) = 6(y — 17)
13. 21 + 3s(s — 4) = Ls(3s + 36) — 125 14. a(3a + 2) + a(6a + 2) + 4 = 6afa + Sa) + 9
15. Gardening A rectangular garden is x feet wide. The length of the
garden is 3 feet more than twice the width. Write a polynomial that
represents the area of the garden in square feet.
16. BIELLELIFELNEE R JEHIHY Simplify —2x(3x — 4) + 6x.
A 8x B 7x — 4 C —6x2— 2« D —6x2 + 14x
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